10 cm?
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2713 ABC 9] Holl
1=

2 0]l= 10 cm? ©]tt.

JgB= Yol
w2bA] AADC 9]
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4. & 13o|A pABCD 0 oA'B'C’'D’ € o, x, y 9 2k F5hojet,

D
A
7
8c
1
\
~12ecm-~
> = °
> = cm
[> ®EH: x=185°
> &HE y=12cm

£C = 360° — (120° 4 80° + 75°) = 85°
S Lx=85°

12:18=8:y

Soy=12cm




5.

@ H&st= ZHe] 37171 90°,60°,30° 2 R5F ZOBER AA
T}t
o1
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2 139 nABCD & AD//BC ¢ Atttel&oltt. %= tjzhAl 9]
4& 02 & 1, AABC = 50cm?, aADOC = 15cm? ©]t}, o] uf,

AOBC 9] Hol=?

A D
(0)
B C
@ 25cm? @)35cm? ® 45cm?
@ 55cm? ® 65cm?

AABC = ADBC 9|22 AABO = ADOC
" AOBC = 50 — 15 = 35(cm?)




thS T84 gABCD copA’B'C’'D’ & o, oA’B’'C’D’ 9] £ 9]
Zolg talofzt,

A
70° D’
B~ ——=C

BC : BC =4 :6 =2 : 3°]1 gABCD 2] £ 2] 4o
7}34+43+4+4 = 140|B2 gA’'B'C'D’ 9 9 ol
2:3=14:x, x =21 T&A] x = 21 0]t}




8. Ty 1™ F W2 AZ7IElA AB & AR o] A& 3ok Y
o, x +y o] #t& Fokei=t.

AD:CF =8:10=4:5
4:x=4:5x=5(cm)
6:y=4:5y="7.5(cm)
Lx+y=5+4+75=125(cm)
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3:45=5:x

3x =225

T x=17.5




10. & AABC 94 BC 9 Zolx 5em ©] 1, A

B
AB. AC 9 5 SEAL el 22
Pl’ P2’ P3’P4 9']- Ql’ QQ’ QS» Q4 ﬂ' 6‘;'} [qL
P,Q, o] dol=?

T~-5cm- -

AAP>Qs & AABC 9|4 /A = 35,
AP, : AB = AQ, : AC =2 : 5 9|E& aAAP,Q, @ AABC
(SAS &)

AAP;Qo 2F AABC O] 2H7F2 :50]EE

P2Q2 5 %: 2:5 UZ]‘E]'H P2Q2 = % = 2(cm) O]E]—




oFe T lA £ 9] e BRI

AABC €} AEDC 9f| A

(B = /D, /ACB = /ECD

.. AABC @0 AEDC (AA @ \:1)
AB:ED=AC:EC°EZ 2:x=3:4
3x=38

.8
T3




12. o 1994 LAHB = /BAC =

90° & mf, o= T &4

O AABCo AHBA

@A_C:ﬁ:5 2

® /BAH = /ACH

ABAC 0 ABHA (AA &)
AB:BH=5:39]2&

w=Hl= 53 ol
~AC:AH=5:3




13. o3 I A ML BCO 570]1L AP :
PC = 3 :29°|t}. AABC = 40cm® ¥ o,
AAPM 9] Yol =?

@ 4cm? @ 8cm?

@ 16 cm? ® 20cm?

~&B

AABM ¥} AAMC 9] 0] 9f @i 9] o7}
o] yol= £t

=

AAMC = 20cm? , AAMP = 20 x g = 12(cm?)




14. th 184 H M2 BC 9 3% 9|, aADHC 9] Hol=?

@ 4cm? @ 8cm? @ 12cm?

@ 14cm? ®)16 cm?

AM € 719W, ADHM = AAMD ©|E 2,

ADHC = AAMC = %AABC =16 (cm?)




15. oS 139 HPAHSYE ABCD oA AC//EF, AB//DCol1
ABCF = 34cm? ¥ W], AACE 9] ¥ o]=?

A I D
F
B C
@ 18cm? @ 22cm? @ 26cm?
@ 30cm? ®)34cm?

, ABCF = AACF o]tt.
, AACF = AACE o]t}




16. FPAHP ABCDOA AP : PC = 1:2°]3 oABCD = 60 < o,
AAPD ] golE 5tofet.

D

\VARR 4
0x
i

10

~&B

AAPD + APBC = %DABCD =30
AP:PC=1:20]B2

AAPD:SOX%zlo




17. o8 9o gaiAbHs ABCD ¢l AE: ED =1:4 °]1, AABE

4em? 4 W, AEBC 9] HolE +5tofzt.

AL D

iy

o

=
[\~]

| 2
> &HE 20cm?

~&B

AABE , AECD , AEBC 9] o] Zr},

AE + ED = BC ©]|2& AABE + AECD = AEBC .
1:4=4cm? : AECD , .. AECD = 16cm?

. AEBC = AABE + AECD = 4 + 16 = 20(cm?)




18. o 139 Altte]&E ABCD = AD//BC,A0:0C=1:3
AABD = 20cm? & 1, ADBC ¢] Hol=?

A D
9)
B C
@ 30cm? @ 45cm? 3)60cm?
@ 75cm? ® 90cm?

AABO : AAOD =3:1, AAOB = 15cm? ,
1:3 =15cm? : AOBC , AOBC = 45cm? ,
. AABC = ADBC = AAOB + AOBC = 15 + 45 = 60(cm?)
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20. t}e IHoA AABCOADEFY 4, /D + /F2] 37|=2

A D

BA C E F

@ 60° @ 90° ® 100° @ 110° (@)120°




21, thg 1} o] gL
GI7k A2 tgals Woltt, thg % £4
A
|

Bf— =>C G
S15-
D) H ~:9/ I
// \\\ J)\
E ARl CEERN) §
O F2H|= 53 o]t} @ ADEF 0 AJKL
® /ABC = /GHI @ HI G Gl

SR BC AB AC
GH HI JK

AB BC BE




22. the 130l AAZFEABCD o tizhd BD 9] 4

= T’—I
BC o}e] @ 4& 217 E, F 2 @ o, BF 9| 2ol& 67
A E D
/ ,/”
/ -
3cﬁ1 5
n| 5em X
\ /
\ |/
B>~_yem-17C
1 1
@ gocm @ 4cm ©) chrn
15 9
@ S om ® em

AABD 9} AOED ©f| A

/ADB = /ODE, /A = /EOD = 90° ¢|2 &2
AABD OAOED(AA H-2)

@:E:@:@o1gg3:4:@;g

@:% (cm)

AOFB = AOED | B2

— 15 15
=20E = 5 X2 = I(Cm)




23. & I1go)4 BAC = 90°, AHLBC ¥ A
o, x o] gr2? !
$CI{1

B ~~9cm--"H4cem

D 5 @)6 ® 6.5
@ 7 ® 75

AH —BH-CHo|Bn&
X2 =9x4=236
x>009]|BZ2 x =6 o|t}.




O 2H A A2 ABC € 314 A 7FBC 919l A E o &&=

2 Hlth, AF = 7cm, AC = 12¢cm, BE = 4cm € U], x2] Zo|&

Fatelet.

> = cm
> =g ?cm

o2 199 ADBE 2t AECF oA /B = 2C = 60°, x+- = 120°
o},

AAGZ

ADBE &0 AECF(AARS)
AD = x°]22 BD = 12 — x©°|t}.
(12-x):8=4:5
5(12 — x) = 32
60 — 5x = 32
5x = 28
28

oo = E(cm)




2|22k ABCD ©lA4 BE & %
o}oq@cﬂ@FOﬂiE%@
EF 9] Zo]=?

@gcm @gcm ©)

@ 4cm ® 5cm

AABF ¢ ADFE(AAR-S) ©]E2 6 : 2 = 10 : EF 6EF = 20

- EF = ?(cm)




